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      PART – A 
1)  Underline the correct alternative :         4x1=4 
a.  The tiger took shelter near the house of (an old woman / an old man / a neighbour ) .  
b. Bholenath was a ( farmer / weaver / potter  ) .  
c) The old man was ( Soft-spoken / ill-tempered / shy ) . 
d) The tiger though drip-drip was ( the constant falling of rain / the name of a man / a creature ) . 
2) Write ‘T’ for true and ‘F’ for false statements in the given boxes :    4x1=4 
a. Bholenath did not know to ride a horse [  ]   b. The king sent Bholenth a magnificent elephant [   ] 
c. The enemy soldiers were happy to see Bholenath [   ] 
d. Bholenath defeated the enemy soldiers single-handedly [   ] 
3) Complete the following sentences :        3x2=6 
a. The tiger was frighten because __________ .   
b. Bholenath wife screamed in  fear when __________ . 
c) Bholenath announced proudly that __________ . 
4) Answer the following question ( any two)        3x2=6 
a. Why did Bholenath bring the tiger home ?    
b. How did his wife help him to overcome his trouble ? 
c. How did the king reward Bholenath for his bravery ? 

PART – B 
1) Write ‘T’ for true and ‘F’ for false statements in the given boxes :    4x1=4 
 a. The farmer called the toy clown silly [   ]   b. Tuffy threw all the water at the farmer [   ] 
 c. The sailor doll could not cook in peace [  ] d. Three gold fish were swimming in a big bowl of water [   ] 
2) Fill in the chart :           4x2=8 

Cause Effect 
a. The little doll began to cry 
b. The little doll complained to the 
policeman about Tuffy. 

 

c. Timothy dropped the key to the floor of 
the room. 

 

d. Tuffy decided never to leave the toy shelf again . 
3) Answer the following questions ( any three) :       3x3=9 
 a. What did Tuffy do when he got upset ?    
 b. What real adventure did Tuffy find at last ? 
 c. What made the little doll think that Tuffy was not a hero ? 
d. Why did Timmothy blush ? 

Part – C 
1. Underline the correct alternative :         4x1=4 
 a. Ship sail on the (pond / lake / sea ) .b. Clouds are prettier than ( rain and sky / boats and ships / rivers and seas  ) . 
c. The poet talks about a bow that bridges ( heaven / sea / river ) . 
d. The poet mentions that the road is from ( sky to to earth / earth to river / earth to sky ) . 
2. Complete the following sentences :        4x2=8 
a. Boats sail on __________.   b. The sailing boats and ships are less beautiful than _________ . 
c. Bridges are built over ____________ . d. The bow builds ___________ . 
3. Fill in the following chart :          3x3=9 
a. What is prettier than boats , ships and clouds ?  b. What are clouds compared to ? 
 c. How do you think the rainbow builds a road from the earth to the sky ? 
 d. Which , according to the poet , is the prettiest of all objects mentioned in the poem ? 



Part –D 
1. Write ‘T’ for true and ‘F’ for false statements in the given boxes :    4x1=4 
 a. The shop man drew out a business card from his hair [   ]  
b. Gip found the magic item [   ] 
c. The toy sword was a magic item [   ]   
d. The narrator found his full name on the magic box [   ] 
 
2. Fill in the blanks using words from the Help Box :      4x1=4 
 Gip was ________ to enter the magic shop . The shop had many ______ balls . Gips father wanted to buy some 
_______ for his son . The shopman performed an _______ action . 
[Help Box- undexpected , keen , crystal , tricks ] 
3. Fill in the chart :           4x2=8 

Cause Effect  
a. The narrator thought that his son would be 
frightened  

 

b. Gip’s father jumped at the shopman .  
c. The narrator called for a cub. 
d. Gip’s father went up and down Regent 

street looking for the magic shop . 
4. Answer the following question ( any four ) :       4x3=12 
 a. Why was Gip surprised ? 
 b. Why did the narrator fail to find out the cost of the magic items ? 
 c. What items did the shopman show to Gip ? 
 d. What did the shopman do with the drum ? 
 e. Where did the narrator again find his son ? 
            Cleanliness-2   
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1. Fill in the blanks with appropriate articles :       5x1=5 
 a) The house is beside ________ Ganges . 
 b) Brutus is _________ honourable man . 
 c) She arrived ______ hour late . 
 d) Rabindranath Tagore was _____ great poet . 
 e) There is _______ university in our district . 
2. Choose suitable prepositions from the Help Box and fill in the blanks .   4x1=4 
 a) _______ Sunday I go for swimming . 
 b) The farmer is sitting __________ the tree . 
 c) The lad is standing _________ the bus-stop . 
 d) The river flows _______ the village . 
[ Help Box – at , under , into , beside , on ] 
3. Underline the correct answer from the alternatives given in brackets :   4x1=4 
 a) He ( watches / watched ) the film yesterday evening . 
 b) The child ( is reading / read ) a story book now . 
 c) My father ( is going / went ) to Kolkata last week . 
 d) The boys ( are playing / played ) football in the field now . 



4. Fill in the blanks with the correct form of the given verbs in the brackets :   5x1=5 
 a) _________ your work now (do). 
 b) The door _______ opened (be) 
 c) Usually , pulak _______ his work well.(do) . 
 d) I __________ working (be)  
 e) They _________ to the playground (go) . 
5. Match the doing words with naming words :       5x1=5 

Doing words Naming words 
Run A car 
Drive A sum 
Out line A race 
Draw A map 
Do A circle 

6. From abstract noun from the following words :       5x1=5 
 a) dark , b) amaze c) disturb d) confuse  e) sweet 
7. Underline subject and predicate ;         5x1=5 
 a) Iswar lives in a village . 
b) A bee has two wings . 
 c) Birds have two legs and two wings . 
 d) The cows are in the field . 
 e) She is an intelligent girl . 
8. Make meaningful sentences with the following words ( any four ) :    4x2=8 
 Bump , nasty , road , disappeared , few  
9. Translate into English :          4x2=8 
a) N¡¢å¢S BS Bl S£¢ha ­eC  
b) pa£n h¤¢Üj¡e J p¡qp£   
c) f¡l¦m HL¢V ­R¡­V¡ ­j­u    
d) fª¢bh£ p§­kÑl Q¡l¢c­L ­O¡­l 
10 Identify the common and proper nouns given below and place them in the correct columns:6x1=6 
 Vidyasagar , Elephant , Grapes , Damodar , Darjeeling , Street  

Common nouns Proper nouns 
  
  
  

11. Read the following passage and answer the question :   
 Socrates was a great philosopher. He had an angry wife . She was always angry with him. But 
Socrates was wise. So he was always cool. One day the lady began to shout in anger . Socrates came 
out and silently set at the front door. His wife saw this and became very furious . She poured water 
over him. A man on the street saw this and laughed. Socrates said , “I expected this rain after 
thunder” . 
 A) Tick the correct answer :         5x1=5 
 i) Socrates was always ( angry / cool / furious )  
 ii) Socrates wife was ( angry / cool / hot )  
 iii) Socrates set ( at the back door / in the room / at the front door ) . 
 iv) Who poured water ? ( Socrates / the man / Socrates wife ) . 



 v) ( The man / the wife / Socrates ) began to shout in anger . 
B) Answer the following questions :        5x2=10 
 i) Who was Socrates ? 
ii) What was his nature ? 
iii) Who on the street laughed ? 
iv) Who was angry in the passage ? 
v) What did Socrates say ? 
12. Write a letter to your friend abut your visit to Murshidabad .    10 
13. Study the following out line and write a story :      10 
  A crow stole a piece of meat – a sly fox saw it – praised her beauty – requested her to sing – 
crow opened her mouth to sing – meat fell down – fox picked it up . 
14. Write a paragraph on your parents / your two wishes ( within 60 words)   10 
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1z L¢hl e¡jpq "O¡p g¢sw' L¢ha¡¢Vl 8 m¡Ce j¤MÙ¹ ­mM :    10 
2z p¢WL Ešl ­h­R ¢e­u ­mM :      10x1=10 
 L) ilc¤f¤­l ­k k¡l O­l O¤j¡­µR ( ­m¡L / j¡e¤o / ­j­u ) …­m¡ z 
 M) S¡jÑ¡e i¡o¡u L¢ha¡ ­m­Me¢e ( ­n„¢fu¡l / q¡Ce¢lM ) z  N) ¢hnÈ­u a¡C S¡­N Bj¡l ( je / fË¡Z / N¡e ) z 
 O) "­j¢e' L¢ha¡¢V ( L¥j¤cl”e / c¢re¡l”e / lh£¾cÊe¡b ) z  P) ju§­ll X¡L ( ­LL¡ / L¥ý / L¡L¢m ) z 
 Q) "Bj¡l ju§l' NÒfVC ­mM¡ ( ¢fËuðc¡ ­ch£ / ­N¡f¡mQ¾cÊ i–¡QkÑ / n¢š² Q­–¡f¡dÉ¡u ) z 
 R) p¤¤i¡o j¤­M¡f¡dÉ¡­ul "fc¡¢aL' L¡hÉNË¿Û¢V (1939 / 1940 / 1941 ) p¡­m fËL¡¢na qu z 
 S) (f¢ÕQ­jl / f§­hÑl / c¢r­Zl ) clS¡l f¡­nC ­R¡­V¡ HLV¥L­l¡ h¡N¡e z 
 T¡) c¡p£l¡ ­M­u H­p hmm j¡ ( ¢Vu¡ / jue¡ / ju§l ) ­L¡b¡u ­Nm z 
 U) c§l BL¡­nl p¤¤e£m f¡a¡u f¡¢Ml¡ ph ( c­m c­m / Ty¡­L Ty¡­L / f¡­m f¡­m ) z 
3z A¢apw¢rç Ešl c¡J :      10x1=10 
 L) Hj¤ R¡s¡ Es­a f¡­l  e¡ öd¤ ­c±s¡­a f¡­l Hje HL¢V f¡¢Ml e¡j ­mM z 
 M) f¡Ce N¡R ­L¡e A’­m ­cM¡ k¡u ?   N) n¢š² Q­–¡f¡dÉ¡u ­L¡e L­m­Sl R¡œ ¢R­me ? 
 O) p¤¤¢heu l¡u­Q±d¤¢l ­L¡e f¢œL¡l p­‰ k¤š² ¢R­me ?  P) L¥­j¡l ­f¡L¡l ­Qq¡l¡¢V ­Lje ? 
 Q) ­L¡s¡L¥¢sl f¡W¡­e¡ ¢Q¢W¢V ­Lje ?   R) "ANËq¡uZ' hm­a L£ ­h¡T¡u ? 
 S) "aeÈu' n­ël AbÑ L£ ?    T) f¡j N¡R ­L¡e A’­m ­cM¡ k¡u ? 
 U) ju§l R¡e¡¢V L£ L£ ­M­a ­h¢n i¡­m¡ h¡pa ? 
4z pw¢rç fË­nÀl Ešl c¡J :      5x2=10 
 L) ec£l d¡­ll ­L¡e cªnÉ L¢ha¡u g¥­V E­W­R ? M) "ü­fÀ ­p A­eL ¢LR¥ S¡e­a ­f­l­R ' - üfÀ ­c­M ­p L£ ­S­e­R ? 
 N) f¡jN¡­Rl h¤L ­hce¡u il¡ ­Le ?  O) j¡Rl¡P¡ f¡¢Ml lw L¢hl ­Q¡­M L£ i¡­h dl¡ f­s­R ? 
 P) i¡o¡l fË­u¡Se qu ­Le ? 
5z ­k ­L¡e 10¢V fË­nÀl Ešl c¡J :      10x3=30 
 L) "f¡Nm¡ h¡a¡p a¡l ­YE­ul Ny¥­s¡ phpj­u E­s Bp­R' - HM¡­e h¡a¡p­L f¡Nm¡ hm¡ q­u­R ­Le ? 
 M) "a¡C a¡l¡ üi¡haC e£lh' - L¡­cl Lb¡ hm¡ q­u­R ? a¡­cl HC üi¡hNa "e£lha¡l' L¡lZ L£ ? 
 N) "h­m Hm¡j B¢j Bh¡l Bph' - fw¢š²¢Vl jdÉ ¢c­u L¢hl ­L¡e j­el i¡­hl f¢lQu ­j­m ? 
 O) "h¡p¡l Bl ­L¡e ­M¡S Mhl ­eu e¡ ' - LMe L¥­j¡­l ­f¡L¡ a¡l h¡p¡l Bl ­L¡e ­My¡S Mhl ­eu e¡ ? 
 P) L¥­j¡­l ­f¡L¡l ¢nL¡l dl¡l E­ŸnÉ hÉ¡MÉ¡ Ll z 
 Q) "M¤¢nl e§f¤l T¥j¤l-T¡j¤l h¡S­R Bj¡l ¢el¡m¡­a ' - fw¢š²¢Vl AbÑ h¤¢T­u c¡J z 
 R) "HC l¡Ù¹¡l JflC HL i¡¢l jS¡l cªnÉ ­cM¡ k¡u' - jS¡l cªnÉ¢V ­Lje a¡ ¢e­Sl i¡o¡u ­mM z 
 S) "B­Nl hRl Blñ qa ANËq¡u­Z' - Hl pñ¡hÉ L¡lZ L£ ? 
 T) L¢hl p­‰ O¡p g¢sw Hl ea¥e B¢aÈua¡ L£i¡­h N­s EWm ? 



 U) "H­L J i¡o¡ hm­a q­h' - L¡­L i¡o¡l jkÑ¡c¡ ¢c­a q­h h­m hš²¡ j­e L­le? a¥¢j ¢L HC hš²­hÉl p­‰ pqja ? 
 V) je i¡­m¡ Ll¡ ­l¡Ÿ¥l­L L¢h L£­pl p­‰ a¥me¡ L­l­Re ? 
 W) " ByQm ­f­a ¢hnÄi¥he O¤j¡­µR HC M¡­e' - L¢hl Hje i¡he¡l L¡le L£ ? 
6z e£­Ql ¢h­noÉ në…¢m­L ¢h­no­Z Hhw ¢h­noZ …¢m­L ¢h­n­oÉ l©f¡¿¹¢la L­l¡ :(5¢V) 5x1=5 
 l¡M¡m , hÉ¡b¡ , në , ­m¡i , B¢aÈua¡ , ¢ehÑ¡¢Qa , fhÑa  
7z AbÑ ­mM : (5¢V) aç , p¡r¡v , i¡h , M¡m¡p , cl¡S , ¢X­f¡    5x1=5 
8z ¢hfl£a në (5¢V) N¡t, qÊÊü , L¥¢Vl , Su , ¢hc¡u , Ae¤l¡N    5x1=5 
9z e£­Ql h¡LÉ…¢m ­b­L E­ŸnÉ J ¢h­du Awn My¥­S ¢e­u ­m­M¡ :   4x2=8 
 L) HC ­M¡m¡­jm¡ fª¢bh£C ph­Q­u hs hC z   M) ­LE ­L¡b¡ ­eC , h¡a¡p Js¡u ¢j¢qe p¡c¡ d¤­m¡ z 
 N) ph¤S j¡b¡ a¥­m La ­Mm¡ ­cM¡­m¡ O¡p g¢sw z  O) LÉ¡ƒ¡w p¡­qh fË¡u Q¢õn hRl heÉ S¿¹¥­cl p­‰ ­b­L­Re z 
10z ¢e­cÑn Ae¤p¡­l h¡LÉ f¢lhaÑe Ll :     5x1=5 
 L) ph¤S j¡b¡a¥­m La ­Mm¡ ­cM¡m O¡pg¢sw ( ­k±¢NL h¡LÉ )  M) ­pC ¢Tl ¢Tl hª¢ø ­b­j­R Aj¢e B¢j ¢i­S O¡­p f¡ ¢c­u¢R (plm h¡­LÉ ) 
 N) C¢aj­dÉ j¡¢V ö¢L­u h¡p¡ nš² q­u­N­R (HC h¡LÉ¢V plm,S¢Vm e¡ ­k±¢NL )  
 O) ­k S¡­e , ­pC S¡­e ( h¡LÉ¢V plm , S¢Vm e¡ ­k±¢NL )    P) HL¢V O¡pg¢sw Hl p­‰ Bj¡l Nm¡u Nm¡u i¡h q­u­R ( S¢Vm h¡LÉ ) z 
                    f¢lµRæa¡ - 2 
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1.­k ­L¡e cn¢V fË­nÀl Ešl c¡J :       10x1=10 
 i) Lb¡u ­m­M¡ : 30030030   ii) 8 Hl ÙÛ¡e£u j¡e ­m­M¡ : 1.283 
iii) p¡j¡eÉ iNÀ¡w­n ­m­M¡ : 5.4  iv) Lb¡u ­m­M¡ : 9x+2 
v) ­l¡j¡e pwMÉ¡u ­m­M¡ : 90  vi) ¢q¾c¥-Bl¢hL pwMÉ¡u ­m­M¡ : XLIX 
vii) m¢Oø BL¡­l ­m­M¡ :  

଻ଶ
ଵ଴଼

  viii) > , = , <  hp¡J : 42.60 [    ] 42.6000 
ix)  y , 5 Hl pj¡e eu z  x)  90 L£ ­L¡Z ? 
xi) 2178 Hl  1000 Hl …¢ea­L f§ZÑ pwMÉ¡u ­m­M¡ (ph­Q­u L¡R¡L¡¢R ) 
 
2. ­k ­L¡e eu¢V fË­nÀl Ešl c¡J :       9x2=18 
  i)  ଶ

଻
+  ଶ

ଷ
+  1 ଵ

ଶ
      Hl j¡e La ? 

 ii)  Bj¡l L¡­R 20 V¡L¡ B­R, B¢j 5 V¡L¡ MlQ Llm¡j, B¢j Bj¡l V¡L¡l La Awn MlQ Llm¡j ? 
 iii)  ÙÛ¡e£u j¡­e ¢hÙ¹¡l L­l ­m­M¡ : 999999 
 iv)  8 A­ˆl hªqšj J r¥âaj pwMÉ¡ ­m­M¡ : 6, 4 , 8 , 1 , 0 , 3, 5 , 2 
 v) ph­b­L L¡­R 100 Hl …¢ea­L f§ZÑpwMÉ¡u ¢e­u¢N­u ­k¡N Ll : 2836 + 7466 
 vi) j¡­el Ad:œ²j¡e¤p¡­l p¡S¡J : 4503210 , 4503201 , 5403120  ,4502210 
 vii) 37452129 Hl 2 Hl c¤¢V ÙÛ¡e£u j¡­el f¡bÑLÉ La ? 
 viii) c¤¢V pwMÉ¡l …egm 15050490, HL¢l pwMÉ¡ 5 q­m Afl¢V La ? 
 ix) 234567 Hl p­‰ ­L¡e r¥caj pwMÉ¡ ­k¡N Ll­m ­k¡Ngm 835 à¡l¡ ¢hi¡SÉ q­h ? 
 x) h¡h¡ A­eL…¢m ¢j¢øl fÉ¡­LV Be­me , k¢c fË¢a fÉ¡­L­V 5¢V p­¾cn b¡­L a­h h¡h¡ La…¢m ¢j¢ø Be­me ? 
 
3. ­k ­L¡e Q¡l¢V fË­nÀl Ešl c¡J :       4x3=12 
 i) c¤¢V pwMÉ¡l m.p¡.… J N.p¡…. kb¡œ²­j 252 J 6 , pwMÉ¡ c¤¢Vl …egm La ? 

ii) cn¢jL pwMÉ¡u ­m­M¡ : 400+50+  ଽ
ଵ଴଴

 + ଵ
ଵ଴଴

 

iii) ph­Q­u ­R¡­V¡ pwMÉ¡ My¥¢S k¡ 18,24 J 42 à¡l¡ ¢hi¡SÉ ? 

iv) EdÆœ²­j p¡S¡J :  1 ଵ
ହ

 , 1 ଵ
଻

 , 1 ଵ
଼
  



v) h¡¢s­a Ae¤ù¡­el SeÉ h¡h¡ 200 V¡L¡l Q¡m , 125.50 V¡L¡l X¡m J 124.50 V¡L¡l ph¢S H­e­Re , h¡h¡ ­j¡V La 
V¡L¡ MlQ L­l­Re ? 
 
4. 350 ¢hO¡ S¢j 20 ¢c­e Q¡o Ll­a 4 ¢V VÊ¡ƒl m¡­N , 1800 ¢hO¡ S¢j 10 ¢c­e Q¡o Ll­a q­m L¢V VÊ¡ƒl m¡N­h ?5  
 
5. j¡e ¢eeÑu L­l¡ : (4¢V)       4x5=20 
 i) 76 - 4- [ 6 + { 19 - ( 48 - 57 - 17 )}]  ii) (72 ÷ 8 x 9 ) - ( 72 ÷  8 Hl  9 ) 
 
iii) ଷ

଼
 ÷ ଶ

ଷ
 Hl ଵ

ଽ
  Hl ଵ

ଵ଺
    iv) 1 - [ ଵ

ଶ
   ÷ {2 -  ଵ

ଶ
   (ଵ

ଶ
  -   ଵ

ଷ
  - ଵ

଺
  )}] 

 
v) 1 ଵ

ଶ
   [  3 ଵ

ଶ
  ÷2 ଵ

ଷ
  { 1 ଵ

ସ
  ÷  (2+3 ଶ

ଷ
     )}] 

 
6. e£­Ql fËnÀ…¢ml Ešl c¡J : (4 ¢V)      4x3=12  
 i) 5  ଵ

ହ
  ÷ ଵଷ

ଶ
    ii) 4  ଷ

଻
    ÷   3 ଶ

଻
 

 
 iii) 2 ଷ

ହ
     x  6    iv)   ଵହ

ଶ଼
   x 2 ଵ

ଷ
 

 
 v)  4 ଼

ଵଷ
    x 7ସ

ହ
    

 
7. e£­Ql fË­nÀl Ešl c¡J :       2x4=8 
 i) nq­ll HLV¡ Ae¤ù¡­e fËbj hRl 1400 Se cnÑL H­p¢R­me, f­ll hRl cnÑL pwMÉ¡ fËbj hR­ll a¥me¡u  

଻
ଵ଴

Awn ­h­s 
­Nm, f­ll hRl ­j¡V LaSe cnÑL H­p¢Rm ? 

 ii) A¢Mmh¡h¤ Ahpl NËq­el pju a¡l pÇf¢šl  
ଵ
ସ
 Awn f¡s¡l m¡C­hË¢l­a c¡e L­le , h¡¢L pÇf¢šl 

ଵ
଺
 Awn Ù»£­L ­ce , 

h¡¢L Awn c¤C ­R­ml j­dÉ pj¡e i¡­N i¡N L­l ­ce , ¢a¢e Ù»£­L J c¤C ­R­ml fË­aÉL­L La Awn L­l ¢c­me ? 
 
8. e£­Ql fËnÀ…¢ml Ešl c¡J :       2x5=10 
 i) S¡e¡m¡l fcÑ¡ °a¢ll SeÉ h¡h¡ 12 ଻

ଵଶ
 ¢jV¡l mð¡ fcÑ¡l L¡fs ¢L­e Be­me, ¢L¿¹¥ h¡¢s­a 5 ଷ

ହ
   ¢jV¡l mð¡ fcÑ¡l L¡fs 

¢Rm, ¢ae¢V S¡e¡m¡l fË¢a fcÑ¡u  4 ହ
଺
   ¢jV¡l mð¡ L¡fs m¡Nm , HMe   BlJ La ¢jV¡l mð¡ fcÑ¡l L¡fs f­s B­R ? 

 ii) 5 - Hl p­‰ ଷ
଻
 ­k¡N L­l ­k¡Ngm­L 4 

ଶ
ଷ
 ¢c­u …e L¢l , Hh¡l HC …egm­L 4 ସ

ଽ
¢c­u i¡N L­l i¡Ngm¢V 8 ଶ

ହ
     

¢c­u  h­u¡N L¢l J ¢h­u¡Ngm L£ ­fm¡j ? 
 
9. ­fe¢pm LÇf¡­pl p¡q¡­kÉ mð Aˆe L­l¡ z       5 
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1zp¢WL Ešl¢V ¢ehÑ¡Qe Ll : (10¢V)        10x1=10 
 L) HL¢V d¡a¥ qm ( L¡W / ­m¡q¡ / Lum¡ ) z   M) S­ml pw­La¢V ­L¡e¢V ( H2 / O2 / H2O ) z 
 N) ­m¡q¡l BL¢lL ( Lf¡l NÔ¡¾p / ­qj¡V¡CV / h„¡CV ) z  O) HL¢V alm d¡a¥l e¡j ( ­m¡q¡ / a¡j¡ / f¡lc ) z 
 P) lSe f¡Ju¡ k¡u ( n¡m / Bj / S¡j ) N¡R ­b­L z 
 Q) Bjl¡ kMe nÄ¡p ¢eC aMe ­k NÉ¡p¢V NËqZ L¢l ­p¢V qm ( CO2 / H2 / O2 )  z 
 R) HL¢V a«Z­i¡S£ fË¡Z£l e¡j ( h¡O / R¡Nm / Cyc¤l ) z 
 S) Bj¡­cl ­Q¡M i¡­m¡l¡­M ( ¢iV¡¢je A / ¢iV¡¢je B / ¢iV¡¢je - C ) z T)HL¢V fk¡hªš OVe¡ qm - (¢mfCu¡l/p¤¤e¡¢j/Ts )z 



 U) HL¢V l¡p¡u¢eL p¡l ( ­N¡hl / fQ¡f¡a¡ / CE¢lu¡ ) z   V) ¢Sh¡nÈ ­L¡e¢V ( Lum¡ / Sm / j¡¢V ) z 
2z n§eÉÙÛ¡e f§lZ Ll :(10¢V)        10x1=10 
 L)              qm fËL«¢aL NÉ¡­pl Ec¡qlZ z   M) Lum¡ f¤¢s­u              f¡Ju¡ k¡u z 
 N) Q¥e¡ f¡bl              ¢nm¡ z    O) fËL«¢a­a              ¢V ­j±m f¡Ju¡ k¡u z 
 P) nlha HL¢V              fc¡bÑ z   Q) fc¡bÑ              lL­jl qu z  
 R) Sm S­j              qu z    S) HL¢V Eij¤¢M OVe¡ qm              z 
 T) jd¤ °al£ L­l              z    U) Bjl¡ L¡NS f¡C              ­b­L z 
 V) ny¥­u¡­f¡L¡ ­b­L              qu z 
3z HL Lb¡u Ešl c¡J : (10¢V)        10x2=20 
 L) Bjl¡ ¢h¢iæ dl­el Mh¡l ­L¡b¡ ­b­L f¡C ?   M) a¿¹¥ ¢c­u ¢L °a¢l qu ? 
 N) N­cl BW¡ ¢L L¡­S m¡­N ?    O) jÉ¡­m¢lu¡l Kod °al£ qu L£ ­b­L ? 
 P) c¤d ­b­L ¢L ¢L °al£ qu ?    Q) ¢pó f¡Ju¡ k¡u ­L¡b¡ ­b­L ? 
 R) T¡s¥c¡l f¡¢Ml e¡j ­mM z    S) cC °a¢l­a ­L¡e hÉ¡L­V¢lu¡ m¡­N ? 
 T) HLj¤¢M OVe¡ L¡­L h­m ?    U) Sm °al£ qu ¢L ¢L ¢c­u ? 
 V) a¢sv f¢lhqe L­l Hje HL¢V Ad¡a¥l e¡j ­mM z 
4z h¡j¢c­Ll p¡­b X¡e¢c­Ll ¢jm L­l¡ :      10x1=10 
 h¡j¢cL   X¡e¢cL 
L)  a¿¹¥    l¡h¡l 
M)  L¥Ce¡Ce   heÉ¡  
N)  ­fe¢p­ml c¡N ­j¡R¡ qu  f¡V 
O)  AfkÑ¡hªš OVe¡   L¡hÑe-X¡C A„¡CX  
P)  °Sh p¡l    ¢p­ˆ¡e¡ 
 Q)  NÉ¡p£u fc¡bÑ    N¡­Rl f¡a¡ Tl¡ 
 R)  LÉ¡m¢nu¡­jl ¢Qq²  ¢fE¢jp 
 S)  B­NÀu ¢nm¡   ¢mLÉ¥Eg¡­uX ­f­VÊ¡¢mu¡j NÉ¡p 
 T)  L.P.G    Ca  
 U)       fË¡L«¢aL OVe¡                      ­N¡hl 
5z pw¢rç Ešl c¡J :(10¢V)       4x10=40 
 L) ­j±¢mL Hhw ­k±¢NL fc¡bÑ L¡­L h­m ? fË­aÉ­Ll HL¢V L­l Ec¡qlZ c¡J z 
 M) A¢„­S­el c¤¢V L¡S ­mM ? HL¢V alm d¡a¥l e¡j J pw­La ­mM z 
 N) ¢Qq² L¡­L h­m ? q¡C­XÊ¡­S­el ¢Qq² ­mM ? 
 O) âhe L¡­L h­m ? c¤¢V ¢jnË fc¡­bÑl Ec¡qlZ c¡J z 
 P) B­NÀu ¢nm¡ L¡­L h­m ? Cq¡ La lL­jl J ¢L  ¢L ? 
 Q) M¢eS fc¡bÑ L¡­L h­m ? c¤¢V Ec¡qlZ c¡J z 
 R) Lum¡l c¤¢V hÉhq¡l ­mM z C.N.G Hl f¤­l¡ e¡j L£ ? 
 S) ¢j­b¡¢S¢ha¡ L¡­L h­m ? c¤¢V flS£h£ S£­hl e¡j ­mM z 
 T) ¢iV¡¢je ¢L ? c¤¢V ¢iV¡¢j­el e¡j ­mM z 
 U) fk¡hªš J AfkÑ¡hªš OVe¡ L¡­L h­m ? 
 V) ­i±a f¢lhaÑe J l¡p¡u¢eL f¢lhaÑ­el c¤¢V f¡bÑLÉ  ­mM z 
 W) c¤¢V d¡a¥ Hhw c¤¢V Ad¡a¥l e¡j ­mM z 
6z ¢VL¡ ­mM :        5x2=10 
 L) ¢nm¡   M) S£h¡nÈ 
 

         Shishu  Nalanda  ( High  School ) 
                         Sample Question Paper 

Sub – History               Clss – VI        Full Marks – 100               Time –3:00 hrs.  
1zp¢WL Ešl¢V ­mM :       10x1=10 
 L) c¢re i¡l­al N‰¡ hm¡ qu ( L¡­hl£/L«o·¡/­N¡c¡hl£ ) z  
 M) L¢e×L ¢R­me ( L¥o¡e pjË¡V/ ­j¡Om pjË¡V / …ç pjË¡V ) z 
 N) q¡S¡l hRl­L HL p­‰ ( k¤N / MË£ØV¡ë / MË£: f§: ) z  
 O) qoÑQ¢la L¡l ­mM¡ ( A­n¡L / h¡Zi– / ­L±¢VmÉ ) z 
 P) i¡la n­ël AbÑ ( Cl¡­el hwndl / i¡l­al hwndl / f¡l­pÉl hwndl ) z 



 Q) N£a ­N¡¢h¾c lQ¢ua¡ ( Su­ch / qoÑhdÑe / nn¡ˆ ) z  
 R) f’j ­hc hm¡ qu ( f¤l¡Z ­L /­L¡l¡e ­L / h¡C­hm ­L ) z 
 S) HL¢V djÑ£u p¡¢qaÉ qm - ( heÑ f¢lQu / °h¢cL p¡¢qaÉ / Lb¡j¡m¡ ) z 
 T) C¢aq¡p Lb¡l AbÑ (f¤l¡ae k¤­Nl Lb¡ / i¢hoÉv Hl Lb¡ / Bd¤¢eL k¤­Nl Lb¡ ) z 
 U) i£j­hVL¡ …q¡ Ah¢ÙÛa ( q¡uâ¡h¡c / jdÉfË­cn / Ešl fË­cn ) z 
2z p§eÉÙÛ¡e f§lZ Ll :       10x1=10 
 L) L¢Z×L ¢pwq¡p­e h­p                MË£: z   M) ¢jE¢Su¡j Lb¡l h¡wm¡ AbÑ                z 
 N) ­Q¡m l¡S¡­cl üZÑj¤â¡l e¡j                z  O) Bd¤¢eL k¤N­L hm¡ qu                k¤N z 
 P) B¢cj j¡e¤­ol S£h­e fËbj B¢h×L¡l                z  Q) Bma¡¢jl …q¡ Ah¢ÙÛa                z 
 R) j¡e¤o Q¡L¡ B¢h×L¡l L­l                k¤­N z     S) ­q¡­j¡ pÉ¡¢f­u¾p Lb¡l AbÑ                j¡e¤o z 
 T) ­h­cl Afl e¡j                z     U) ¢på¥ piÉa¡l ph­Q­u hs ­L­¾cÊl e¡j                z 
3z ¢WL / i¥m ­mM :       10x1=10 
 L) qlè¡ piÉa¡l c¢re f§hÑ ¢c­L e£Q¥ hp¢a ¢Rm z    M) ­j­ql N­sl fËbj f­hÑ ¢pm­j¡q­ll hÉhq¡l öl¦ qu z 
 N) ­q¡­j¡-pÉ¡¢f­u¾p fËbj B…e SÆ¡m¡­a ­n­M z       P) f¡b­ll k¤N­L ¢aei¡­N i¡N Ll¡ qu z 
 Q) ea¥e f¡b­ll k¤­Nl q¡¢au¡l ¢Rm ­iy¡a¡ z          R) B¢cj j¡e¤o fËbj ¢c­L ­M¡m¡ BL¡­nl e£­Q hph¡p Lla z 
 S) flhaÑ£ °h¢cL k¤­Nk­” a¡j¡ c¡e Ll¡ qa z       T) piÉa¡l h­s¡ j¡fL¡¢V ¢m¢f z 
 U) qlè¡- piÉa¡ B¢h×L¡l qu 1925 MË£: 
4z ­hj¡e¡e në¢V ­hl Ll :      5x1=5 
 L) a¡j¡ , Ly¡p¡ , f¡bl , ­m¡q¡    M) L¡¢mh‰¡e , ­j­qlNs , h¡e¡Ju¡¢m , ­Y¡m¡¢hl¡  
 N) ­O¡s¡ , q¡¢a , Nä¡l , o¡ys z   O) ­i¡ya¡ f¡bl , q¡mL¡ f¡bl , Ry¥Q¡­m¡ f¡bl , d¡a¥ z 
 P) ­q¡­j¡q¡¢h¢mp , ea¥e f¡bl , ­q¡­j¡C­lLVp , ­q¡­j¡pÉ¡¢f­u¾p z 
5z HLLb¡u Ešl c¡J :       10x2=20 
 L) MË£ø¡ë L£ ?    M) ­L¡e A’m­L i¡lahoÑ hm¡ qa ? 
 N) fË¡L-I¢aq¡¢pL k¤N L¡­L h­m ?   O) fËaÀa¡¢šÄL L¡­cl hm¡ qu z 
 P) ¢SNp f¡Sm L£ ?    Q) c¡h¡em L£ ? 
 R) m¤p£ L£ ?    S) f¤l¡hÙ¹¥ L¡­L h­m ? 
 T) B¢cj j¡e¤o fËb­j L£ ­Ma ?    U) k¡k¡hl L£ ? 
6z ¢ae-Q¡l¢V h¡LÉ Ešl c¡J :      8x3=24 
 L) ¢VL¡ ­mM - ec£ ­L¾cÊ£L piÉa¡ z  M) B¢cj j¡e¤o k¡k¡hl ¢Rm ­Le ? 
 N) B¢cj j¡e¤o ­S¡V ­hy­d ¢Rm ­Le ?  O) qlè¡ piÉa¡­L fË¡L I¢aq¡¢pL k¤­Nl piÉa¡ hm¡ qu ­Le ? 
 P) a¡j¡ J ­hË¡” k¤­Nl piÉa¡ L¡­L h­m ?  Q) qlè¡ piÉa¡u L£ L£ âhÉ Bjc¡¢e J lç¡¢e Ll¡ qa ? 
 R) fË¡Q£e i¡l­al C¢aq¡­pl Ef¡c¡e…¢ml f¢lQu c¡J z    S) AØVÊ¡­m¡¢fbL¡p pð­å ­mM z 
7z h¡­l¡-f­e­l¡¢V h¡­LÉ Ešl c¡J :      5x4=20 
 L) fË¡Q£e k¤­N ec£j¡a«L piÉa¡ N­s JW¡l L¡lZ L£ ? 
 M) B¢cj j¡e¤o L£i¡­h fËL«¢a­L Su Llm ? 
 N) B…­el hÉhq¡­ll g­m L£ L£ f¢lhaÑe ­cM¡ ¢cm z 
 O) ¢på¥e­cl a£­l qlè¡ piÉa¡l nql…¢m N­s E­W¢Rm ­Le ? 
 P) ­j­qlNs piÉa¡l fa­el L¡lZ ­mM z 
     f¢lµRæa¡ - 1 
 

         Shishu  Nalanda  ( High  School ) 
                         Sample Question Paper 

Sub – Geography              Calss – VI        Full Marks – 100               Time –3:00 hrs.  
1z p¢WL Ešl¢V ¢ehÑ¡Qe L­l¡ :       7x1=7 
 L) fª¢bh£ ­b­L p§kÑ La …Z h­s¡ ( 10 mr / 13 mr / 11 mr ) z 
 M) p§kÑ l¢nÈ200 ­L¡¢V i¡­Nl j­dÉ fª¢bh£­a H­p ­f±yR¡u ( HL i¡N / c¤C i¡N / ¢ae i¡N ) z 
 N) ph­Q­u h­s¡ NËq qm ( öœ² / fª¢bh£ / hªqØf¢a ) z 
 O) n£am aj NËq ( öœ² / CE­le¡p / hªqØf¢a ) z 
 P) fª¢bh£l EfNËq ( ¢jl¡ä¡ / V¡CV¡e / Qy¡c ) z 



 Q) fª¢bh£l fËbj jq¡L¡nQ¡l£  ( m¡CL¡ / CE¢lNÉ¡N¡¢le / iÉ¡­m¢¿¹e¡ ­a­ln­L¡i¡ ) z 
 R) jÉ¡­Ne¡m ( NË£L / Cw­lS / ­f¡a¥a¢NS ) ïfkÑVL z 
 
2z HL Lb¡u Ešl c¡J :       8x1=8 
 L) ï­N¡­ml SeL ­L ?    M) fª¢bh£l ­jl¦hÉ¡p La ? 
 N) fª¢bh£l Ar Lr a­ml p­‰ La ¢X¢NË ­L¡e L­l b¡­L ? O) ­L¡e ­lM¡­L jq¡hªš hm¡ qu ? 
 P) â¡¢Oj¡ ­lM¡l AeÉ h¡ Afl e¡j L£ ?  Q) fª¢bh£l f¢l¢d La ? 
 R) P.M. Hl f¤­l¡ Lb¡ L£ ?   S) i¡l­al fËj¡Z pju La ? 
 T) ­L¡e ­N¡m¡­dÑ Sm i¡­Nl f¢lj¡Z ­h¢n ? 
 
3z n§eÉÙÛ¡e f§lZ L­l¡ :       5x1=5 
 L) r¥âaj jq¡­c­nl e¡j                   z  M)                   jq¡p¡Nl fª¢bh£l fË¡u AdÑ¡wn S¥­s Ah¢ÙÛa z 
 N) fª¢bh£l Smi¡­Nl f¢lj¡e                   na¡wn z  O)                   fª¢bh£l c£OÑaj ec£ z 
 P) fª¢bh£l hªqšj ec£                   z 
4z ¢jm L­l¡ :        5x1=5 
 "L' Ù¹ñ  "M' Ù¹ñ  
L) jÉ¡­Nm¡e   Midday  
M) Meridian   ­f¡mÉ¡ä  
N) 180 â¡¢Oj¡­lM¡  1519 p¡m 
O) ­L¡f¡l¢eL¡p  j§mjdÉ­lM¡ 
P) 0    B¿¹SÑ¡¢aL a¡¢lM­lM¡  
5z Lj­h¢n ¢ae¢V h¡­LÉ Ešl c¡J :         15x2=30 
 L) fª¢bh£­L e£mNËq h­m ­Le ?   M) p¡a¢V jq¡­c­nl e¡j ­mM z 
 N) h¡u¤jäm L¡­L h­m ?   O) B¿¹SÑ¡¢aL a¡¢lM ­lM¡ L¡­L h­m ? 
 P) fª¢bh£l BhaÑe ­hN phÑœ pj¡e eu ­Le ?  Q) fËj¡e pju L¡­L h­m ? 
 R) AM J PM hm­a L£ ­h¡T ?   S) ¢SJX hm­a L£ ­h¡T¡u ? 
 U) fª¢bh£l ¢eeÈaj J EµQaj ÙÛ¡­el e¡j L£ ?   V) ­p±lSNv L¡­L h­m ? 
 W) erœ jäm L¡­L h­m ?   X) EfNËq L¡­L h­m ? 
 Y) ­p±l Ts L£ ?    Z) e£q¡¢lL¡ L¡­L h­m ? 
6z Lj­h¢n Q¡l¢V h¡­LÉ Ešl c¡J :          11x3=33 
 L) NË­ql ¢ae¢V °h¢nùÉ ­mM z   M) N.A.S.A J I.S.R.O Hl f¤­l¡ Lb¡ ¢L ? 
 N) ¢elr ­lM¡ L¡­L h­m ? Hl j¡e La ?  O) fª¢bh£l ¢h­no ¢h­no Ar­lM¡ …¢ml e¡j ­mM J j¡e E­õM L­l¡ z 
 P) ÙÛ¡e£u pju J fËj¡e pj­ul j­dÉ f¡bÑLÉ ­mM z Q) h¡u¤jäm­L Lu¢V Ù¹­l i¡N Ll¡ qu J L£ L£ ? 
 R) ¢hnÄ Eo·¡ue hm­a L£ ­h¡T¡u ?   S) ¢ae¢V NË£Zq¡Ep NÉ¡­pl e¡j ­mM z 
 T) ¢Qœpq VÊ­f¡¢Øgu¡­ll heÑe¡ c¡J z  U) ØVÊÉ¡­V¡¢Øgu¡l­L n¡¿¹ jäm hm¡ qu ­Le ? 
        (­e¡V h¤L - 6, ­j±¢ML - 4, f¢lµRæa¡ -2) 
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Sub –Computer.              Class – VI        Full Marks – 50               Time –01:30 hrs.   
1z p¢WL Ešl¢V ¢ehÑ¡Qe L­l¡ :       5x1=5 
 L) fËbj Calculator  ­L B¢h×L¡l L­le (Abucush / Blaise Pascal / Jhon Napier )   
 M) William Oughtred  ­L B¢h×L¡l L­le ( Abacus / Pascaline / Slide Rule ).  
 N) Computer  Hl SeL ­L (Jhon Van Newmann / Blaise Pascal / Leibiz ) . 
 O) phÑfËbj ­L Computer H h¡Ce¡¢l pwMÉ¡ h¡hq¡l L­le ((Jhon Van Newmann / Blaise Pascal / 
Leibiz)  P) Computer Hl ­L¡eÚ fËS­eÈ transistor ¢Rm j§m ¢eu¿»L ( fËbj fËSeÈ / ¢àa£u fËSeÈ / a«a£u fËSeÈ ) 
z 



 
2z n§eÉÙÛ¡e f§lZ L­l¡ :        6x1=6 
  ( Soroban / Jhon Van Newman / Jacquard / Difference Engine , Analytical Engine / Lady 
Ada Lovelace  ) 
 L)              Hl e¡j Ae¤p¡­l ­fË¡NË¡¢jw i¡o¡l e¡j l¡M¡ qu "Ada' 
 M) Charles Babbage  Hl B¢h×L¡l k¿» c¤¢Vl e¡j              J              z 
 N) Punch Card B¢h×L¡l L­le              z 
 O) Stored Program  Hl d¡le¡ ­ce              z 
 P) Abacus  Hl AeÉ e¡j              z 
 
3z ¢jm L­l¡ :        5x1=5 
 h¡j¢cL    X¡e¢cL 
 L) fËbj fËSeÈ        Al,PROLOG 
 M) ¢àa£u fËSeÈ     JAVA , VB 
 N) a«a£u fËSeÈ    machine language 
 O) Qa¥bÑ fËSeÈ    FORTRAN, COBOL 
 P) f’j fËSeÈ    Assembly Language 
 
4z fËnÀ…¢ml pw¢rç Ešl c¡J :       7x2=14 
 L) Computer Hl pw”¡ fËc¡e L­le ­L ? 
 M) Computer Hl SeL L¡­L hm¡ qu ? 
 N) fÉ¡pL¡m B¢h×L«a k¿»¢Vl e¡j L£ ? 
 O) ­m¢fu¡l ­h¡eÚ-H La…¢m cä ¢Rm ? 
 P) iÉ¡L¥u¡j ¢VEh hÉhq¡l L­l °a¢l qu Hje c¤¢V Computer Hl Ec¡qlZ c¡J z 
 Q) fËbj ­L Computer H h¡Ce¡¢l pwMÉ¡ hÉhq¡l L­le ? 
 R) j¡C­œ²¡ L¢ÇfEV¡l h¡ f¡l­p¡e¡m L¢ÇfEV¡l­L Lu i¡­N i¡N Ll¡ qu J L£ L£  ? 
     
       hÉhq¡¢lL=20 
 
 
 
 
 
 
 


